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Note: - You have four choices for each objective type question as A, B, C and D. The cheice which you think is carrect, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will resuit no mark.

- SECTION-A (i~
Q.1 Questions /=4 A B C D
1. [The unit of torque is: | ek N Nm J N m?
9 - I PSS e e L Fy
Rate of doing work is called: Force Torque Power Momentum
3. |Specific heat of glass is: [ celrr® e K| 840T kg K| 8450 kg K | 850 kg™ K™ | 900Jkg™ K
4. e bnlis ST GAH ) [ RAR) | [ ®eny | sR+m) | g (R+R)
Orbital speed of a satellite at '’ height from earth is equal to:
5. |Mass of earth is: —cULKti| Bx1024g 6x1025 g 6x10% g 6x1027 g
6. |In S, the unit of stress is: L e ,‘xut(Sl)&T—m Ns Nm™ Nm Nm™2
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) Example of a bad conductor of heat is: Gold iron Waool Graphits
8. |36 km h™ is equal to: - 4236kmh? | 10ms™ 20ms™ 30ms™ 36ms™
9. |Inertia depends upon: _‘gzb‘;lb’ 21| Force I 9 | Netforce | ie: | Mass Ut Velocity[ s
10 -quﬁJj/g’/,uL{/’b'w}J%d}? k. i LS v
Centripetal force is directly proportional to: v r rt r
11. |Potential energy is equal to: e Bnaag Aty % m? mv? mgh? mgh
12.|Water freezes at: -g-bleehiuds LZ:Z‘fdg 0°F 0°C 100°F 100°C

16-124-1A-37000% x

2l
M e . A @




